' Name ' k\‘f/’ﬁ # " Score
 4.1-4.4 Review | Worksheet
Note: You must show all work for credit, including calculator problems!!
1. Given 0 = _Ei_” ;make a sketch and list (a) a positive and (b) a negative coterminal angle.

Answers must be in radians!

A . wﬁ’m
M rr Zé"” 4 “ a. 7y
/ A L .
47 [
A -3 { 1
ey —_— %’Z’"‘
| L
;{ ""‘iﬁ:
b Li!271 Gy
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5. Given sinf = B and cos @ < 0, find the exact values of the other 5 trig functions. You must draw
a sketch in the correct quadrant!!
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.6 Find the exact value (do not use calculator!) of the following trig functions
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7. Find the exact length of the arc infer cepted by the\?i/ I:f‘f'fai angle 95° on a circle with radius = 17 in.
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9. If sec& <0 and cscfd <0, a ( 10. Find the reference angle for 512° T (#
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11.  Find the point (x, ¥) on the unit cm‘,le that corresponds to the angle 6.
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lf Use a calculator to evaluate sech"ﬁ@" : (round your result to four decimal places) loga [
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13, Find two values of 8 to the nearest degree, 0° <8 «<360°, that satisfy cos@ = -.4695
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14, Aramp 30 feet in length rises to a loading platform that is 2.25 feet off the ground. Find the anglre of
' -elevation of the ramp to the nearest degree.

,éﬁ e

TSI

15, Anangle of depression from the top of a building to the base of a statue 72 feet from the base of the
bullding is 61°. Determine the height of the building to the nearest foot. Make a sketch, label all parts,
and show your equations. :
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i Given 8 = e ,make a sketch and list (a) a positive and (b) a negative coterminal angle.
Answers must be in radians! |
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2, Find the (a2} complement and (b) supplement for: 0= = a.
b.
3. Convert to radians:  115°
4, Convert to degrees: %—;E
5. Given sinf = 1-55 and cos@ <0, find the exact values of the other 5 trig functions. You must draw
a sketch in the correct quadrant!!
A
N csc =
cosf = secld =
tan & = cotd =
6. Find the exact value (do not use caiculator!) of the following trig functions:

a. cse (E) = b. cot (ﬁJ =
4 2

7. Find the exact length of the arc intercepted by the central angle 95° on a circle with radius = 17 in.
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Solve for x to two decimal places.

52

If secd <0 and cscf <0, 10. Find the reference angle for 512°
in which quadrant does & lie? :

Find the point (%, y) on the unit circle that corresponds to the angle 6.
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Use a calculator to evaluate sec21°49': (round your result to four decimal places)
Find two values of & to the nearest degree, 0° <8 <360°, that satisfy cos@ = -4695

and

A ramp 30 feet in length rises to a loading platform that is 2.25 feet off the ground. Find the angle of

-elevation of the ramp to the nearest degree.

An angle of depression from the top of a building to the base of a statue 72 feet from the base of the
building is 61°. Determine the height of the building to the nearest foot. Make a sketch, label all parts,
and show your equations.




